FHOFEASHIE SR

BAMNELZTH-REAER

[ASZR—Y/SU2R]
m o x = 2 B ™ T E
3|t |BRELNEE USOP-Y3IY 9:00 ~15:00 WPU—F ACTREtEE
ne SHEEEEITOASHFEERE—F/AL—R—ILAR | 8:00 ~ 17:00 K WPY—F AEBFECRBREBERER
WEERTFEERTER 14:00 20:00 FHBS WEERTEFEERS
T | K|BERBBEI"/\U—MN—ILKE 17:00 21 :00 INPUU =7 BREHIIRES
11| B | RREESTEEEES - [|HESR 8:00 16 : 30 | XPU—7 g-REs 3| ASKERSEER
TR ERARTCEAREAREAR . . ] _ .
17| L | Zosmasnre tagnat—FNL —R—L A e | 1800 ~22:00 R NPU—7F Aggg%g%
SHCEERARFCERRERRRAR ) : L ame| BREEEES
18| 5 | sasmeany coagant—F/\L—m-AAR 8:00 ~ 17:00|X-NPU—T, &#E| F77TPES
20| W|HB13OASZT I v FTFILRE 19:00 22:00 KPPV —7F AS Ty +FTIIVBEEFE
i,@ﬁ%ﬁéﬁﬁ%wmm%é7%?1%€U<Dﬁ~b 9:00 17 :00 RP)—=F ASHREEER
24
ASREHRE SABEBR 9:00 17:00 H—-HBH ASREHRS
ASREHRE SEBRBR 9:00 17:00 FH—-HBH ASREHRS
25| B | 51 9@MABERIAH/ L —R—ILAS 9:00 ~ 18:00 K WPY—F ASBHENL—R—ILBR
WEERTFEEREEE 10:00 14:00 F_HBHB WEERTFEERS
31| & [WmEFEEHRR/NRIY YRS (R@) 11:00 15:00 NP =7 ASHEFN IV VS
U1l ESB5ESRIB)
® o P = 2 E o & = E
11K
2| & X _
Tz FWE=2AP YIS —1595TF— NEFERS 8:00 ~16:00
4|8
10| £ | 55250 || LHEPRERED
= 9:00 ~17:00 $EE---8/12 ASHRABIREE
11| B | 5250 || LEP24EREQ
17| &
88|, \ BT : : BEAB A SHREHK
b= 620K EREFRAS 8:00~17:00 SESRBRES
20| W
24| & |BKEBF., h—0RII20BFHEIFERNTEKAS 8:00 17:00 BREF, m—2 2
25| B |MEEBEMERABARSTZED 9:00 17:00 ASHRAEFEER
31| £ |F40)| LAY ZPHERAS 9:00 17:00 ASHRAEFBER
(E—TRISIYV ]
" x 2 Z E o = = E
3+ . R&B 7/27 )
SHN—BBFYUD FR—IVAREFZE (FiED) 7:00 ~18:00 ABHUT FR—IVBE
B R&EB 7/28
STCEERAEFCCREE2 B4T0 . 5
S %$%§r§ﬂa§§@§€j El:fﬁn—)wtﬁ ) 18:00~17:00 O
THOFERARFCEREER $470 : : =
18| B gxer et amany s FlLis 8:00 ~17:00
24| £ | = s
BREEF Th—2D 25811 20@FEE=] . . N _
papm el 8:00 ~18:00 BREEF, R—22
WEBF h—2 2381 120850 . . = —
81| + | nnmnia 8:00 ~ 18:00 HEF. h—02
(RUABRT—R3— K]
" x 2 Z B o % = E
4| BIASHREBE (VI FFIR) 7:00 ~17:00 ASHYT FFZRBE
11| B | \SBERFEAR 7:00 ~17:00 FE3---8/18 ABHYD RFRIBE
24| + _
B TR14THHEIAS 7:00 ~17:00 ASHYT FFZRBE
25| H
) 9:00 ~17:00 D-E-F ASHYT FFZRBE
31| £ | RADAE Y DERREES
183:00 ~17:00 c ASHYT FFRBEE
(ZE18)
® o x = 2 B o % = E
| |[xa3emU
(BwLWITSHY R])
"l x = 2 B i = E

REEBMES > TNDIEHRATEEEA




